QUanUz®

S
®O® ?
3.

1. a. The 18 adopts(@) and (2) to connect the 5 and 6.
a. The metal leg adopts (1) to connect the 1. b. The 2 and 6 are connected to the 1 with (1),(2) and
b. The Adjustable leg (8) adopts (8),d0) and (9) to connect the 1. 3.
c. After the installation of the leg, ensure that the height of the is c. The 3,5 and 8 are connected to the 1 using (0) and
consistent with other metal leg. @.

2\

a. Use (7) to install the sliding rail 42)-A in the 5

and 6.

b. The 16 adopts and to connect the 3

D O-A pts @ @

and 5.



4.

a. Insert the 7 and 9.

b. The 4 adopts 1),(2) and (3) to
connect the 2 and 6.

At the same time, use (1) and 2) to
connect the 3, 5 and 8.

5.

First,Each hinge (3) are installed in the corresponding position of the door
plate 15 with (5).

Then connect with the corresponding side plate of the cabinet with (5
and (9.

(Note: When connecting the cabinet with hinges, install the screw on the
corresponding rubber plug hole first. Then fixed with self-tapping nails)

6\
Use (7) to install sliding rail (2)-B
on the outside of the 11 and 12.

7\
the 11 and 12 adopts (5) and (@) to connect
the 14 and 17, then insert the 10.

8. (6) are used to connect the 11 .12
and 13.



2
—
o
£ad
s
P
—_
=]
o
-1

15

14/ 17/ 12/ 10/ 13 11/ 18

9\

a. Exposed hole paste (6).

b. Insert the drawer, adjust the distance between the drawers to 2mm, the
installation is complete.

Itme Name Spec. |Qty
1 |Base plate 1800X394 | 1
2 |Left side plate 278X393 | 1
3 |Left middle side plate | 278X376 | 1
4 |Top plane 1800X394 | 1
5 |Right middle side platgl 278X393 | 1
6 |Right side plate 278X393 | 1
7 |Right soft backplane | 633X286 | 1
8 [Middle backplane 697X278 | 1
9 [Left soft backplane 424X286 | 1
10 (Drawer bottom 293X576 | 2
11 [The right drawer side | 300X88 | 2
12 |The left drawer side 300X88 | 2
13 |Drawer end 568X88 | 2
14 |Upper drawer surface | 621X126 | 1
15 |Door panel 520X272 | 1
16 |Grating 697X358 | 1
17 |Lower drawer surface | 621X126 | 1
18 |drawer check ralil 620X60 1




Hardware List

No. Name Picture | Qty. | No. Name Picture Qty. | No. Name Picture Qty.
M3.5*14 cross —
. . Embedded hydraulic hinge
@ Large tapping buckle bar % 24 @ countersunk head tapping 16 @ large base four holes 2
screw
MB8*20 cross round head M4*14 cross countersunk
=1 - i i i -
@ Large buckle wheel _ 24 galvanized screw W 2 self-tapping nails (nickel 4
plated)
. . M4*12 cross countersunk H
- $
©) 8*35 Wood tip @ 8 | (9| Dia.8mm flat washer 2 |®] ™ lated sCrow &\ 8
@ Small tapping buckle bar 8 Dia. 8mm spring pad 2 Furniture sticker 8888 8
M4*16 cross countersunk
(B | small buckle wheel @ 8 [AD|™ oog tapping screw 8 |47 Metal leg [% 4
M3*30 cross : .
@ countersunk head 24 @ 250MM three-section rail 4 Adjustable leg ﬁ 1

tapping screw

(Width 36mm)(Black)




